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mesmce  Lesson 1: Let’s Think
Raffety says that -20 is larger than -3.
Otis says that -3 is larger than -20.

Who is correct?

Why? How can you be sure?
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THIRD SPACE
LEARNING

3+4=7
+3 /j\‘
[4 \
-3 0 4

SATs Revision Pack E: | can use negative numbers and calculate across zero
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mmosw:  Lesson 1: Let’s Apply
The temperature at 5am was -4°C

The temperature at 3pm was 8°C
The temperature at TIpm was -7°C

What is the difference between the temperature
at:

5am and 3pm?

3pm and 1lpm?

5am and Tlpm?




o
4

meosmee Lesson 2: Let’s Think
The table below shows the average
monthly temperatures in Senja, Norway.

-5°C -3°C -4°C 0°C 5°C

Noah says that the greatest difference in
temperatures is between February and May.

Is he correct? What is the value of the greatest
difference?

SATs Revision Pack E: | can use negative numbers and calculate across zero
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meosece  Lesson 2: Let’s Apply

Below are pairs of numbers

A) -3 and 3 B) -8 and -4 C) -6 and 1

D) -7 and -13 E) 3 and -1

Write down the letters of the pairs of numbers
which have a greater difference than five

SATs Revision Pack E: | can use negative numbers and calculate across zero
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